" Solve each equation. Use algebra tiles if necessary.

15. ~2+y=—8 16. w—1=3 17. n+5=-2

18. 7=qg—4 1. p—6=12 20. 3=2+10

21, —3+k=-3 22. 4=g+6 23. 2+f=-1 :
24.10 =8 +b 25. 2=d+(-3) 26 x+6=-23 1
27, =7 =a + (-9) 28, k—7= -8 29.p - 9=7 ‘
30. —124+r=-2 3. v+9=2 32, ~13=c¢c+ (-4

38, What is thevalue of mif 8 + m = —137?
34. ¥ a + (—14) = —16, what is the value of a7
35. When 6 is subtracted from d, the result is 5. Find the valué of 4.

| Praciice . Solve each equation. Check your solution,
18, k+ (-8} =29 19. y—~(=7)=3 20. -9=8+g
1 . 21, b —14=—-11 22, —21=5+¢ 23. 3+m=10
-l 94, 27 +y = —49 25. 7+ w=—6 26. 11 =7+ (~9)
it 07. 15 +y=—63 28 —89=n—24 29, 52=18+]
' 30. k—146=92.  81.34=m+72 32, —3.41 +1n =023
3 7 _4
3. S+y=1{ 35. g+ (3
[:] o L] a [} [} o L] [} -}
Pragtice Solve each equation. Check your solution.
11, 4c =24 12. 9p =63 13. 30 = 2x
14. —62 = 60 5. —8i =56 i16. —3 = —bn
17. 14 = 0.5x - 18. 0=39 19, 22r=11
9, 1, - ' b 5
20, Et—l 21, oy 32 22. 3
- A 2= 95, —18 = —2.
23. 10="7 24. —ox 6 5 3P
outice Solve each equation. Check your solution.
14. 6 =dn + 2 15. 8+ 3k=5 16. 36 —7 =2
17. 15=1—-2¢ 18. 12 = -5 + 2 19, —13 — 9y = --13
20. 8+16a=0 21. 03x+3 =48 22, 6.5 =2x+41
23. 27 =3+ 251 24, —4—07m=23 25. —6z+ 8= —406
=% Y _ 6= e _
26.7~2+5 27.3 6=4 28.8+_ch 12
—_ 3 3+n _ _ 158
29. 28=7 2t 30. 7 5 31. —10 5
- |




auided Practice State the first step in solving each equation.

0+7r _ Solution: Subtract 7r from each side.

4.2y =43y 5. 0.5p +4=1.5p 6.:%Z£=7y

Solve each equation. Check your solution. (Examples 1-5)

7. W0x=3x+14 8. Zr—21=3—4r
9. 8 +1=1+8y 10. 7 —6x =41 —6x
11. 34a+3=2a— 4 12, %1nw10=%m+4

13. Fumhes Theory Three times a number 7 is 24 less than five times
the number. (Example 1)
a. Write an equation to represent the problem.

b. Find the value of 5.

Practice Solve each equation. Check your solution.
14, 10h=8h+ 6 15, 7u — 19 = 6u
16. 6x +2=3x—1 17. 5t —9=-3t+7
18. 2n +15=2n+20—5 19, 3x+6=7x—4
20. 8y —5 = —y + 2 21. 18 + 3k =22 + 3k
292, 12 + 2.5z = ba 23. g +31=66—4a
24, 62y +7=3y—1 25, 32x — 1.8 =6+ 1lx
26. 45 —x =2x — 8.1 27. 1.6 =43y = 52— 2.3y
1, 5_1 1,2
28, 5 =2~ 5 29. op 4=
g L, gl 1 g 4, _
80. gz — 4=z +18 3. gp—9=5p — 2
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